
 

1. Evaluate 
a. 625଴.ହ 
b. 625ି଴.ଶହ 

c. 343
భ

య 

d. 0.343ି
భ

య 
2. Simplify or evaluate where possible 

a. 27
మ

య × 81଴.଻ହ 
b. (3ଶ + 2ସ)଴.ହ 

c. 1000
మ

య ÷ 0.125ି
మ

య 
d. 2ିଷ + 5ିଶ 
e. (3ସ − 7ଶ)2ିହ 

f. ௬మ.య

௬ష.ఱ
 

g. (𝑝ଶ𝑞଺)
భ

మ 

h. 5
భ

య × 5
ర

వ × 5ି
ఱ

భఴ 

i. ௣మೌ௣షయೌ

௣షఱೌ
 

3. Solve 
a. 2௫ = 32 
b. 2௫ = 31 
c. 2 logହ 𝑥 = 4 
d. logଷ(5𝑥 + 7) − logଷ(𝑥 − 1) = logଷ(3𝑥 + 2) 
e. log௔ 𝑥 + 2 log௔ 𝑥 = log௔ 8 
f. 𝑚 = logଷ 8 
g. 5000 = 2000(1.05)௡ 

4. Evaluate 
a. 4 logభ

య

9√27 

b. logସ 2√8
ఱ  

c. logଶ 8√32 + log଻ 49 √7
ర  

5. Write as a single logarithm 
a. ଵ

ଶ
logହ 𝑥 +

ଵ

ଷ
logହ 𝑦 −

ଵ

ସ
logହ 𝑧 

b. 2 logଶ 3ଶ + logଶ 6 − 3 logଶ 3 


